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Multiply by powers of ten (missing number)

Name:

6.578 x

5.86 %

7.988 x

7.869 x

3.568 x

4.191 x

1.008 x

3.158 x

5.67 x

2.046 x

= 65.78

= 586

=79.88

=78.69

= 3568

= 4191

= 100.8

=31.58

=56.7

= 2046

3.184 %

Date: Score:

=31.84

3.33 x

= 3330

10.064 x

5.106 x

= 10064

=510.6

5.76 x

= 5760

2.564 x

=256.4

4.233 x

= 4233

7.705

=77.05

2.847 x

=28.47

8.49 x

= 849
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[? !0 ﬂ Multiply by powers of ten (missing number)

Name: Date: Score:
6.578 x 10 = 65.78 3.184 x 10 = 31.84
5.86 x 100 = 586 3.33 x 1000 = 3330
7.988 x 10 = 79.88 10.064 x 1000 = 10064
7.869 x 10 = 78.69 5.106 x 100 = 510.6
3.568 x 1000 = 3568 5.76 x 1000 = 5760
4.191 x 1000 = 4191 2.564 x 100 = 256 .4
1.008 x 100 = 100.8 4.233 x 1000 = 4233
3.158 x 10 = 31.58 7.705 x 10 = 77.05
5.67 x 10 =56.7 2.847 x 10 = 28.47
2.046 x 1000 = 2046 8.49 x 100 = 849
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